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g4 | B EIE BF4 IVHF B S1|S2|s3|sa|s5s6|s7|s8]|s9]|s10f L E D H Time A Total Score |REEAFIE

_ " _ . _ 2 2 1 2 2 2 4 2 3 3 0 17.7 9.95 11.580 0.0 39.230

1 8 Bt #FRTE FOLS YA BEARNSURYLH5T 79.095 10
5 4 6 4 4 4 2 2 3 5 0 16.1 2.1 10.00 11.665 0.0 39.865
N _ . . 4 4 4 3 3 2 4 3 3 4 0 16.6 10.00 11.685 0.0 38.285

2 23 BE = YhAE FAA TENNSVRYLH5T 75.550 9
4 4 4 6 5 5 6 5 6 6 1 14.8 1.4 10.00 11.065 0.0 37.265
W . _ _ . _ 4 2 3 3 3 3 3 3 2 3 0 171 10.00 10.180 0.0 37.280

3 15 aF K% 105 FF INRESURYL 5T 74.825 8
4 2 2 2 3 4 4 4 3 6 1 16.5 1.1 10.00 9.945 0.0 37.545
N . . _ . _ 4 4 3 2 4 4 2 3 5 4 2 16.3 9.90 11.045 0.0 37.245

4 5 H&F & EFI NI BARNURYLHST 74.475 7
6 5 4 4 4 3 4 4 3 8 1 154 1.2 9.90 10.730 0.0 37.230
. N _ . _ 4 2 2 2 3 4 4 4 3 4 1 16.7 9.40 10.450 0.0 36.550

5 19 s B ywoo o ORI IS Tl 73.940 6
4 3 3 3 4 4 4 3 4 4 1 16.3 1.3 9.65 10.140 0.0 37.390
- . _ . _ 4 3 4 3 4 3 3 3 4 4 1 16.4 10.00 9.755 0.0 36.155

6 3 E BE Y LT BEARNSURYLH5T 72.770 5
4 4 5 3 3 4 4 4 4 4 1 16.0 0.9 9.95 9.765 0.0 36.615
N . . . . 4 6 6 2 6 6 4 4 3 3 0 15.6 10.00 10.860 0.0 36.460

7 1 BN i H3AT FF= FIVRSURYLH5T 71.415 4
4 6 6 4 4 6 6 6 4 6 20 12.8 1.6 9.95 10.605 0.0 34.955
. . _ . _ 4 4 6 2 3 4 4 4 4 4 0 16.1 10.00 9.305 0.0 35.405

8 21 BA BE NOER TR BEARNSURYL ST 71.080 3
6 4 5 4 5 4 4 4 4 6 1 15.3 1.2 10.00 9.175 0.0 35.675
_ " N 4 4 4 4 6 5 4 6 7 5 1 15.0 9.85 10.655 0.0 35.505

9 20 FR HETE RyF NFH AIRFLOAT 71.030 2
4 4 5 3 6 6 4 4 6 8 2 14.8 1.0 9.65 10.075 0.0 35.525
_ . _ . . 4 3 5 2 4 4 4 4 4 4 1 16.1 10.00 9.400 0.0 35.500

10 17 BEO EH wrTF A ISRy H5T 70.820 1
4 4 6 4 4 6 5 4 4 6 1 15.2 0.8 10.00 9.320 0.0 35.320
. _ . _ 6 5 5 4 6 6 6 6 4 6 4 14.2 9.80 11.245 0.0 35.245

11 13 H0 ER F5=Y 3aY | FAREALINSURYLHST 70.625 -
6 8 8 8 6 6 8 6 9 8 4 12.3 29 9.45 10.730 0.0 35.380
_ . _ 4 5 5 4 6 5 5 4 4 5 4 14.9 9.95 10.000 0.0 34.850

12 2 rE EBP THIFR 9N cSURYL STty 70.455 -
5 4 5 5 5 4 6 6 6 8 1 145 1.1 9.85 10.155 0.0 35.605
_ 5 6 5 4 6 6 4 6 7 8 2 141 9.70 10.665 0.0 34.465

13 10 =EFH % ST/ TAA AIRFLOAT 69.985 -
5 4 6 4 6 6 7 6 5 6 1 144 0.8 9.80 10.520 0.0 35.520
N _ . 6 5 6 7 7 8 6 6 6 6 2 135 9.70 10.725 0.0 33.925

14 9 E@R BHEE THE F7hY FSUR) U HOEE 69.040 -
4 4 6 8 7 8 7 6 6 6 0 13.8 0.8 9.70 10.815 0.0 35.115
. . . 4 6 6 5 6 6 6 6 7 6 2 14.0 9.90 9.305 0.0 33.205

15 22 #E OBED 479 £F/ FIVNSURYL 5T 67.870 -
4 4 5 5 6 6 5 5 5 6 1 14.8 0.8 9.85 9.215 0.0 34.665




s R L . 4 |4 |6 |56 |6 |6 |46 |6 |1 146 9.75 8.650 0.0 33.000

16 6 BE fEX IAE JThF AN URYVHST 67.075
4|5 |6 |6 |6 |5 5|45 |60 148 08| 10.00 8475 0.0 34.075
‘ 5 /6 |6 |5 |6 |6 |6 |6 |6 |60 142 10.00 8.465 0.0 32.665

17 7 ¥ $E1E A¥ a4h AIRFLOAT 64.835
6 |6 |7 |6 |8 |7 |7 |6 |6 ]|8]|z2 1341 0.8 9.90 8.370 0.0 32.170
L . 718 |8 s |7 |88 |7 |7 |81 123 9.90 7.640 0.0 29.840

18 4 FR XE%E ~y¥ TFI AIRFLOAT 63.125
6 |8 |8 |7 7|7 |8 |6 |7 ]|8]|2 126 08| 10.00 9.885 0.0 33.285
n . L . 6 |6 |6 |6 |8 |8 |6 |6 |6 |83 131 9.60 8.080 0.0 30.780

19 14 ZEK E A5F RIL I\ SR 95T 61.880
6 |6 |7 |6 |8 |8 |6 |6 |6 |82 1341 0.8 9.35 7.850 0.0 31.100
. L . 6 |6 |8 |6 |7 |8 |8 |7 |8 ]|8]|3 125 10.00 8.940 0.0 31.440

20 16 KEH tiE THLZ FF= INKRS VR 95T 61.690
6 |6 |8 |8 |6 8|8 |7 |8 |10]20 105 15 9.70 8.550 0.0 30.250
718|768 |7 |87 ]|7]Ss 125 9.95 7.305 0.0 29.755

21 18 W Bt <& 19h AIRFLOAT 59.745
6 |8 |8 |8 |8 |8 |7 |7 |8 ]|8]|3 1241 0.8 9.85 7.240 0.0 29.990




